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~ Grey line: exponential fit Peak flux: 6.472+/- 0.789 c/s/cm? 7
— Black line: power law + gauss fit Fluence : 41.34+/- 4.85 c/cm? —
- | pestedinesponerta Duration : 14. 40+/- 2 19s o
i Best fit model: 2. ]
~ Best fluence model: 2. -
I Best duration model: 2.
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; Exponential fit é
= Expon.time: 3.43+/- 0.52s (chi*red= 1.18) =
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; Power law fit é
= Power law index: -1.894+/- 0.191 (chi’-red= 1.14) 3
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—  Power law fit plus Gaussian (st.dev.= 39.25+/-12.32 s, fracgs= 0.37+/- 0.13) =
- Power law index: -2.791+/- 0.529 (chi*-red= 1.12) 7
= I i 1
= | Ty bt bt
= *HWMH A +WﬂHﬁ”*+ﬂwﬁﬁ*ﬁm++jﬂ*ﬁwH**ﬁﬁﬂ*ﬁﬂﬁmﬁﬁ*%ﬁﬂﬁw ﬁwﬁﬁﬂﬁﬂ Mﬁﬁﬂﬂﬂﬁ ﬁ*ﬂ*ﬂﬁ*ﬁwﬁ “WH*THM*Wf*ﬁﬁ**HWMHW“%
= f f =
E | I I I I I I I I I | I I I I I I I I I | I E
0 100 200 30

Time [s]

0



